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Cofelence Intels instal ofHypotless Testing. ANOVA Put II:Two - my HNOU.
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pressure.

"Now the chth was collected?"

Jutant methols

Family confidence coefficient:21 - as · Geen

the numberoftreatments ofFirmAx #8 Firms B.

Tukey auficence intervals. Exmple: 3 x2=6.

full distinct princise difference quinquss
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FE. Gn is the iras quite of Huge Response Plots

the statical range distribution with miles
32. As oil is we profeable.
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Fatrial Experiment and Intraction.

Either mediates.

WeDietsure effectthe

Insolus all possible embinations ofjunta leads ofallfactors.
Is the average is moving in the same direction?

Movements ofthe faces is the key.
In Jup, take a look at the "Correcting Letters Reput".
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Bunkalum ofSSTR. Levege Plti

"Ble he "include:not sunstinct signifient.
Swe SS IF inS I "The he "not include:statistic significut.
A SSA a- 1 InSA #:-

23 SSS b-1 InSiS Fi =3
MUSI

His SSAB !Fertical IUSAB FHS:H Mitigate Airor.
Total SSTK ab-1 TheJoe:HBAC, BC, Hibcne

GeertJonlafr the umber ofintractions in a before experiment.

Intpetition ofHIVOU.
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SSTK:SSA+SS13+sSC: negens
1. Testfor World treatment efet. I

10:The is no tentant effect.
SSAD+ SSAC+SSSC, Twofur effects)
t

Ha:The is

enemiesthateffect.
SSAIC, Treefat effects

2. Testin Intralia: sefire we set to interpot the mock, we need for cen

Indeprontof each other up the merced to be simplier
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ne
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Step 2-4 me "Effect Tests".
3. Test in man effect A.

10: The is no significent effect ofJon A.

Hu: The is a surgint effectifon H.

4. Test in man effect B.

10: The is no significent effect offun B.

Me: The is a surgint effect fun B.

Example using JP.

Castuct Male Efects:Height, width,

Height x width.

Full Factorial.

3x

a=3, b =2,v =2

ab(-1) =3x2x12-1):6

Now we know that "Heights" be the

quott efect, we want to know the

best combinate ofthat.




